
THERE ARE 2 DIFFERENT TYPES OF SHEETS IN EACH BOX.  

FOR EXAMPLE SHEET 1 WILL HAVE A PARTIAL FLOWER, I.E. 7 3/4 

SHEET.   SHEET 2 WILL HAVE 8 FLOWERS.  INSTALLER NEEDS 

TO PERFORM A DRY LAYOUT AND IDENTIFY WHICH SHEETS ARE 

WHICH FOR PROPER LAYOUT.  FULL BOXES SHOULD BE ORDERED 

IN ORDER TO ENSURE THAT YOU HAVE ENOUGH OF EACH TYPE OF 

SHEET TO COMPLETE THE DESIGN.

ONE SHEET WILL HAVE THE ORIENTATION IN “1” AND THE 

SECOND SHEET WILL BE ROTATED TO BE IN THE ORIENTATION “2” 

POSITION.  THIS LAYOUT APPLIES TO 30M AND 50M.   



 
IN THIS PHOTO YOU CAN SEE THE TWO DIFFERENT TYPES OF SHEETS.  ONE 

HAS APPROXIMATELY 8 ALMOST FULL FLOWERS AND THE OTHER HAS 7 ¾ 

FLOWERS.   ALSO NOTE THE BAND OF WHITE ON THE TOP RIGHT PATTERN 

WITH ALMOST 3 FLOWRS ACROSS AND THE OTHER PIECE HAS A WHITE 

BAND AT THE BOTTOM WITH ONLY 2 FLOWERS ACROSS. 

 

 

 

 

 

 

 

 

 

 

 



 
 

CORRECT 

 

THIS IS HOW THE PATTERN SHOULD LOOK WHEN LAID OUT. 

 

 

 



 
 

INCORRECT 

 

YOU CAN SEE THAT IN THE MIDDLE ROW THERE ARE 2 ROWS OF FLOWERS 

WHICH ARE DIRECTLY UNDERNEATH ONE ANOTHER.   THIS IS INCORRCT. 

 

THE SHEETS SHOULD ALTERNATATE NOT JUST FROM ONE TO THE NEXT 

BUT ALSO EACH ROW OF SHEETS SHOULD ALSO ALTERNATE. 



 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



HERE IS AN EXAMPLE OF AN INCORRECT LAYOUT.   IT MAY NOT BE SO 

OBVIOUS WHEN YOU DO ONE ROW OF THE PATTERN BUT WHEN YOU 

COMMENCE THE SECOND ROW YOU WILL QUICKLY SEE THAT YOU MAY 

HAVE USED THE WRONG PIECES TO INTERLOCK.  

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
ABOVE YOU CAN SEE FOR THE POLKA DOT HEXAGON THAT THERE ARE 2 

TYPES OF PATTERNS.  LOOK AT THE ONE ON THE LEFT, IT ENDS WITH A 

BLACK DOT ON THE BOTTOM LEFT.   NOTE THE ONE ON THE RIGHT, IT 

ENDS WITH A WHITE DOT ON THE BOTTOM RIGHT.   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



HERE ARE SOME INCORRECT LAYOUTS FOR THE POLKA DOT PATTERN 

 


